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a5 principal, il
4. Debit card is alsg called £

9. Home lpan is available for pure
10,

5

c Cheque. |
of land as well as improvement/extension of house
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“plain any 7 draw backs of Forfeiting,
BT hat are financial services? Explain any 6 Fund based financia services.
OR

to Pearl Enterprise against agreement of Providing advance
Havinent of ©0% of receivables and for guaranteed payment after 3
tempounded quarterly and factoring commission i

Compute
b Calculate
L. Assume interest s collected §

interesy,

{E}What are the qualities of Merchant bankers

VAT What is a Cle

Aring member? Explain itg functions ang types of Clearing members,

HEIEplain the process of secunitization with the help of th
OR
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OLA 1A) What s Smart card? Explain § mﬁmﬂ Cards. (7
(Rjbescribe the process of r_rl:dit rating, (8}

O0% {4] Discuss the Stages of venture capital Finance. (7)

{0} The vibho Transpart Ltd, purchased Trmk'ffpm the Hindustan Motors Ltd. on Hire Purchase basis (8)
The Cash price of the tuck was Rs 16,00,000. The amounts were pavahh as under :

fs 500,000 on the date of purchiase Le 1st Apr, 2012

e, xi.w OG0 on 31st March 2013

. 4.00,0000 on 3181 March 2014

e 4,12,%90 on 315t March 2015

This Hindustan Maotors Ltd, charged interest at 5% wn on the unpaid amount on the Diminishing balance each

par 1 closes its accaunt on 315t vaz’h

ton are requited to prepare Hindustan

seeatding to credit purchase method.
anr

i Short notes on (Any Three)

AMecourse & Non-Recourse Factoring
Banker to an lssue.

National Housing Bank

4 Option contract

"Bl Market Scheme ,1970

: .-l.-t‘!‘twc and interest Afc in books of Vibhu Ltd.

0 & () Write 3
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Vaper / Subject Code: 86011 / Finance: Strategic Financial Accounting

SFN. (o 7¢

TIME:-2 % HRS MARKS:-75

1Al questions are compulsory.
2o Working notes should form part of your answer.
i Figures to the right indicate full marks.

(1 (A) Choose the correet Option and rewrite the sentence: (Any Eight) (0%)
1 Ihe most common form of dividend paymentis

(a) Stock Dividend (b)) Cash Dividend (¢) Stock Split (d) Bonus issue

ABRL ladia s formed as one of the following.

(a) Registered Company (b) Government Corporation

(¢) Trust (d) Partnership with XBRL International

X Estunate of cash flow is affected by
(a) Future Price Trend (b) Competition () Sales volume (d) All of the
Above

& _ ensurés that less number of projects are selected by imposing capital

r

restrictions
1a) Capital structure (b) Capital Budgeung
() Capital Rationing (d) None of the ahove
5. EVA s a corporute surplus which is sharedby
(a) Emplovees and Management (b) Employees and Shareholders
(¢} Sharcholders only (d) Employees, Management and Shareholder s
6. Corporate Governance practice includes
(&) Audit Commitiee (b) Management Analysis
{¢) Communication (d) All of the Above
7. In Amalgamation, all the assets and liabilities of the transferor company are pooled
into the books of transferee compuny at _ .
(i) Market Value  (b) Books Value (¢) Fair Value (d) Realizable Value

8. MNPA stands tor 4
(1) Net Performing Assets (b) Non Performing Assets
(v} Hon Privilege Assets (d) None of the Above
9. Public deposits are accepted for a maximum of A years.
(a) 1 (b) 2 (c)3 - (d) 5
10, I India, Commercial Papers are issued as per. the fiﬁidelines issuedby
(a) SEBI (b) RBI
(¢} Forward Market Commission (d) None of the Above

By State whether the following questions are True or False (Any Seven) (07)

1. The diadend policy of a firm is decided by its Board of Directors,
2. ABRL provides reporting framework that controls risks,

A Insensiivity analysis, the sensitivity of human factor is identified.
4. Capital rationing is caused by external factors only.

. Fientious assets are added to the share capital to get networth,

6. Disclosure is the principle of corporate governance.
B 154 Page 1 of 4
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Costof Capital = 1§
{aleulate the market

(€1 Mark Ltd. belongs to a risk elass fc
S0,000 outstanding shares and
profit of * 5,00,000 for the year and the
per share. Mark Ltd has a proposal for m:
You are required to caleulute: -
(i} Market Price per share when dividen
(1) No. of pew shares _.._lme issued by

and not declared.
tm)  Caleulate the market val'uc of the firm

declared

0.3  AA) MM l,td 5 wnsldcring tw

dre gs fﬁ”l)w$ ”
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|
2
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4'.

The company has a target return
Project A and Project B are 2% a
thh project should be accepted
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Y/

ORr

(B)  Zebralud iy considering two mutually exclusive projects. Investment outlay of  (08)

both the project 15 © 2,50,000
under three possible

and each is expected to have a life of § years..

Situations Ihcir‘%@un{cqsh flows are as under

Situation 3 E'Q'Mjljtigi; Pro _ ige!.g Pro i'egt. X
il SLi | Linkakhs) | CinL, akhs)
Good 0.3 30 2y
Normal 0.4 20 20
Worse 0.3
OIRe _‘A(k ey :p‘ %L;

Which Praject 18 more risky? Wi

(C) Steep Lid, 156 (07)
S 5,00,000
20,00,000 | 9,00,000
18,00,000 | 8,00,000
S¢ | 16,00,000 | 7,00,000 2
T— | 14,00,000 | 6,060,000 Iy i
Ihe total fund available s 50,00,000. Determine optimal combination of
Projects ussuning that the pro ccts are divisible.
R4 (A TomEtdin miending to pu Jerry Ltd (by merger). The following details (08)

are available--

Particulars

Tom Ltd.

: Jerry Ltd.
Eamings after Tax ©25,00,000 © 9,00,000
Number ol Equity shares 5,00,000 300,000
f Market P'rice Per share i o 42

You are required to caleulate. - ;
(1) Present EPS of both the companies, > [%

(1) If the proposed merger takes place, what would be the new EPS of Tom

Ltd assuming that merger takes place by exchange of gquity shares and the
. L=
cxchange ratio is based on market price per share, .\t

(B)  The following data is provided by Zampa Ltd for t

year. You are required to  (07)

Calculate the missing figures? e
: Sales Value * 5,00,000
' Income ) 1 .OQ,(__){JAO» i

Capital Employed ST BRI k. 1V 1) R
Weighted Average cost of capital || §%
Sales Margin(%) : Foags
Capital Tumover (Times) ¥ i
Return on Investment (%)
Economic Value Added (°

OR
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(1)

£1 % [‘}

fiHa

Fhe following information s pertuning to Akli Lid.
Pudgeted Sales per week — SO0 uping
e cost details of the company are 15 follows:-

- Cost Blements er Unit

i o el

- Raw Materials 6.00
Direct Laboy, 8.00
Overhead 4.00
Total Cost 18.00
Profi 2.00
Sale Price per uniy 20,00

I s estimated that ;-

L Raw materials remain i stock for 3 weeks and finished goods for 2 weeks,

Fuctory processing takes 3 weeks
L Supphiers alloaws 6 weelk credt
I Customers are allowed § weeks credit,

o Assumie produetion and overheads accrue evenly throughout the vear.

Prepare a statement showing working capital requirement and ajso caleulate
Maxnmim Permissible Band: Fimance (MBPF) as per first and sccond method

wl lendhimp :

N as provided the details of advances. Calculate the pruvmﬁJ to be made

m the Profit & Lose decount,

e “in Lakhs

Standard 12,000

Sub-standared 2800

Doubtiul: |

For one vear 3aon

For two years 2400

For three years 1600

For more than three years - 1200

Loss Assets ; 1000
Deline XBRL, }:'fx;'iiz‘iﬂn its advantages and disadva‘g*ngcs. Ui (08
"Explig the advantages of Corporate Govermnance, (07

OR ;

Write Short notes: (Any Three) (15)

(1) Sources of Working Capital

{11} Merger

(niMaximum Permissible Bank Finance
(gDecision Tree Analysis

(v) Capital Rationing

LR AL RS
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(2) Figures to the ngl‘ctmﬂimﬁﬁlﬁ'mrks
0.1 ”Illl:)lyt: questions

a1 Ve Shate whether the followi _
[. Capital mtensi%ptﬁj l!mll amount of investment. ' i ‘

(8 Marks)

Project structure WWW% ugmng ground to project managers

Depreciation 15 & non- cost item.

Feasibility study mmim ash flow analysis

© Delphi method is an ndividual decision making technique.

o Lenn means creating value for customers with firm resources. |

7 Risk monitoring and contro i .‘.‘1 involves keeping a track of the identified risk.

S PMMM strengthens ok bmrwm stratepic planning and execution. |

G4 Project nnnagemcmmnsutmms manage the project by application of their j : |
knowledie, skill and experignce at various stages.

10 ‘.i\l{'i{ method is based on accounting profit.

e

O tegby Mateh the Columa (any 75 (7 Marks)
“ ( uinmn ‘\7‘ g % Column B LS
| Project Manager a1 Depends on FMP :
e 2 IJ;_I:QnTu]g\ | ~pcreases Fina Financial Risk . .| :
3, l ||!'h Ges umg has 3 Levels ww__J
CTd Yield Value . ¢ Leader of Project Team
T PMMM o 3 v Debt Security .

G Proeet A # When Testing Fails
¢ : 7 Controls Project

ik lmlu.t Termnated
j mmm I‘mmt belutum B SRS W Lhe sacred cow

9 Non Numeng Proj I’ru;bu ‘sclullun i Pay back period

o, )77771.—[—1-1—llllcj‘!!dli?!.1_ , [ ¢ Engincening process

(04 company can miake either of two investments. Required rate of retumn 1s 10%. Cnlcnlate
rect Present Vidue and prn[uablluv index toa gan h project from the l’g@hng details: (15 Mark

P zit i h: B o 'jﬁj “ Y = YJ
& 2 ,QQ,_(])U() & zWOOU

f Corst ¢ H:.. !IHLHHR‘-)
l-‘ cted | ife r"Ju ‘mh.wu) 5 years

| -'.‘.' ' 1How

[ oy e 50,000
il 50,000
= TR 60,000
4 e 60,000
00,000

L5 ] L N oLk o R

r il pan : [
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Faper / Subjoct Code: 80008 / Finance; i‘rnjﬁct Managemeny
.. T e
A5 ET s, 1 0.683 062
O 0l
OR
W 240) How e Prefect elagsifiego (8 Marks)
d () Explain Stratepie Busimess Uit (St ATH project Management (7 Marky)
A Oiloulag the g Iting lucmg,c Hnanciy) leveiage ang Combine lc\‘crage from the
fisl lu\uu ity (IS.\Iark.s')
Eo%m e T L T—— R e
P beul WO A L B L J
Uy l[ U {in lum ) 3’00‘"00 75 ﬁﬁﬁ_—-%_whw
Ty N e “‘j- -
seliing price PECunit (Rs.) LT “—jﬁ— Ry !
o1 7 e
i Is L}f L] 1
OR f 6
NG Diseusg the PO anee of Project l-'e.'mblht_\ Study. (8 Marky)
LD Fxnla 1 et Produg Mix analysijs. (7 Murks)
L4 Foll Wing is the Ralanee sheet of Raj Lid as on3|# March, 2014 (15 Marks)
21 ;'.i!%}imL ‘ i e B s B A LR ey
A0 B v Shiy of Hi [lU 000 i .\l:lfhim:r_‘.;,r e ) 1 7—:1_:;*mli—ﬁ_
I8 2 o 1 21 |
l;' DECH :m l’rr nuum o i _7J&TUD?J_ T—'unTilqu:— 35 oy U“ UUl'
Crener; 1l [\r Ve & _4.78 800 }lSlock ‘—l 2,40,000
lrwin & L m A l .i.]‘l : 4 J2,000 |
Creditors _ ‘ i R ]
Provision lut Tax g g 8.68.000 4
Company 1y sfer 209 of profir \lllu tax o [..U]Ll’.ll reserve, -

e Prolit betore T axation for the lag 3 years have beep as follows:

e Y the yvear ended 3120372012 Rs. 5.44 000
L For the v arended 31/63/20) 3R% 7.3% 000
. For the year ended 31/03/2014 Rs. 7,88.000

Machinery s valued at Rs, 6,37,200. Average yield js 20%. The rate ol Tax is 50% Use sampie .
werage. Calculute value of equity share gy s per mnmsk Value nlelhud and yaeld method. ""3:’2 ¢

65404 Page 2of 33"\‘?"
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: g | Kam | ﬂ'dﬂl‘l’l i-)eVEIUI Wi : e i .
PMentin Projecy Managemen:.
I What afe e steps involved : it (7 Marks)
T TR e SIeps invelve m termination roje
‘ ~SHnination of g 7 7
) natior project (8 Marks)
IS¢ "-leiy
1 (15 f\l:lll'k_\)
MY wantst slart a M: acturing Unit Lo . c Hidey
e ‘l s Mﬂnul!dcmnng Unit. He has Rs.1,05,200 in his bank accoum is
His lave promised to 21t him Rs.3,50.000.
1- s estimated the Praject cost at Rs. 18,00,000; of which machinery will be Rs. 15,25,000 and
S halance amount will be tor furniture and fittings. The bank finance is available 1o the extent of
WHeulihe project cost, He EXpects first year's sales at R 40.00,000 with annual Increase of 200,
L2 Jedt over previous year, The COSt of sales will be $0% of sales. The rate of interest on loan
IHhe 1% on reducing balance method. The loan is repayable @ Rs. 3,00.000 at the end ol every
i He charpes depreciation (@ 20% on his fixed assets under straight line and his overheads for
e e are Ry 2.40,000; Rs.3,00,000 and Rs. 3,60,000 per year respectively. Assume Tax rate
WS reginred Lo prepare:
‘/ Hicome Satemient for the first 3 years.
morzation Schedide for loan.
Cualvulate the debr service coy CHIgE ratio and interest coverage ratio for the above 3 years
OR
1 otzs LA ) (15 Marks)
L ' Risks in Projects
i Breakdown Structure
Ly Oreamization
SWOT Analysis
fopest Management Information System (PMIS) k,;—
-_
(54049
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Paper / Subjeet Code: 86002 / Finance:Internationa) Finance

pMarks: 75 Duration: 2.5 Hours
i M—-—.—____
Note:

1) All questions are compulsory subject to internal choice.
2) Figures to the right indicate full marks.
3) Use of simple caleulator is allowed

0.1,
() Fillin the blanks by ¢hoosing the right option (any 8): -

(1 Reserves are held in following forms except - (Foreign Currency, SR, Silver)

(2) Under o =2 there is interference of monetary authorities (o Jocy e exchange
rates.(Fixed Exchange System, Flexible Exchange rate System, both) 5

(0 SBEA/C with HSBC in UK is an example of (LORO, NOSTRO, VOSTRO)
@ pPP theory . Bovernment intervention. (ignores, includes, requires)
(5)  The project is financially viable if NPV is . (positive, negative, zero)

(6) o 15 known as secrecy jurisdiction. (Tax haven, Transfer pricing, foreign
affiliate)

(7) risk s also called as “Accounting exposure”. (Transaction, Economic,

Translation)
(8) i 1s a type of security listed m Luxemburg. (ADR, GDR, IDR)

(%) Anoption giving the buyer of the op"trid‘ns the ﬁ.ghf but not the obli gation to buy a currency
is - (call option, put option, forward option)

(10)  Ihfference between the value of merchandise exports & importsis . (BOP, BOT,
Reserve A/C) . v
0.1.(B) State whether the following statements are True or Fn.l;ﬁany 7 (07)

(1) FDIis recorded in capital account of Balance of payments,

(2) Under fixed exchange rate system value of currency is decided by market forces of
: demand & supply forees.

(1) Spread s bid-ask.

(4) Hedging means protecting the business from risks.

(5) Standardized contract terms are used in Forward contract.

(0) A Euro bond is an international bond denominated in a currency not native to the country

where it 15 issued.

(7 Sensex includes 30 largest & most actively traded stocks in BSE.

(8) Entry & exit of FDI is more difficult compared to FPI,

(7 There is lot of transparency in tax havens.
(10)  AFM stands for Arbitrageur's Forward Margin,
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doi ‘. ki e emerging challenges in
(; iir‘u Explain the coneept of International Finance and discuss the emerging 2
 International Finance, : ; s
(B)  State the difference between fixed and ﬂex(‘n)blilc exchange rate sif: i
(T)  SpotUSDICAD 11045 - 1,1095 dor A |
USD Interest rate 2.50% p.a. i : :
CAD Interest rate 3.25% p.a.

Calculate 90 days forward USD/CAD quotation.

(Q)  Spot USDVINR 45,0260 -45.0315 S R U A MR R Wbt
Fmonth forward 485 - 53§ i ORRTHE el e Rl A A
2 month forward 985 - 1060 95 SR O T o
Caleulate outright forward rate for I}ﬂqn’lh &2 month, M5y w Ul
Caleulate outright forward rate for 45 days,

2
(A Briefly describe the structure of Indian foreign exchange market.
(B) Explain various types of currency derivatives,
(") The following quote is given by abank in Mumbai:
+ 1 USD = INR 67.7550 —67.7575. o
*  Is this quote “Direct” or “Indirect” in Mumbai? ki
*  Calculate Mid-rate, Spreadiand Spread % yn( - A7.7 <
*  Find the inverse quote, S Yo :
NG FUSE =Y Egme eg - wuroa s
() From the following data decide on the best alternative. for investing INR 10 Million for 4
temporary period of 6 months on risk free basis. Ignore tra

ix

ion cost.
Currency Spot 6 month forward Interest Rate
B EUR 80.2650 80.2950 I
Ly MU LhEn o 64.1225 64.1275
VKt | GBP 95.3550 ‘ 95.3650
04,

(A)  Discuss any two types of Euro Bonds in detail.

(B)  Describe various types of capital budgeting techniques.
. OR o
(P)  The following quotes are given in US: %
GBIMUSD-1 5393-1.5403 : o
USD/AUD-0.9790-0:9800 B : v

And the given quote in Australia is:
GLBP/AUD-1.5100-1.5110

i) Derive the quote GBP/AUD from the set of
1) Compare the derjved GBP/AUD quote w
arbitrage if any on | Million GBP. by {3

quotes given in US
ith the quote given in Australia and find
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)

Paper/Subject Code: 860072 ; Finance:Internationa Finance

NPV, Regu:rcd Rate 10%,. miav

07
Particulars Amount in Rs. Y
“Cost of investment 2,00,000
Expected Life (No salvage value): 5 Years |-
- Cash inflow: year- | 60,000 ;
L 2 50,000
v 3 60,000
ok 4 60,000
cal 5 : 60,000
The present value of Re. 1 at 10% discounting rate are 0 909 0.826, 0.751, 0. 683, 0.621
Q.5.
(A)  What are different types of foreign exchange risks faced by firms? (08)
(B)  Describe the objectives of taxation, (07)
OR
Write Short Notes on (any three) g (15)
1) Arbitrage o
. 2) FEDAL ¢«
3) GDRs
@ 4) FEMA

5) Tax havens
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